Year 2 Maths Home Learning

Friday 17 January 2020

We have been continuing our learning involving money, finding differences and working out the change. Please
complete this sheet, fold it and stick it in your child's homework book.

Work out the difference between a bag of sweets and a bar of

chocolate.
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How many pounds less does Amee have?
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Paul has £2 and 15p.
Tony has £2 and 40p.
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How much more money does Tony have than Paul?

5b. Claire has the coins below.
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She spends 19p.
Tick the correct change.
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7b. Complete the bar model.
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A game costs £25

Ben has £19

How much more money does Ben need to buy the game?

Anna buys a teddy and a pencil.

The teddy costs 20p more than the pencil.

How much does she pay altogether?
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PLEASE GLUE OVER THIS SENTENCE AND STICK THIS SHEET IN YOUR CHILD'S HOMEWORK BOOK.

éa. True or false?
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é6b. True or false?
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Rachel has £33 in her money bank, and gets £40 more.
Fill in the bar model and write a calculation to show her total.

£40

She then buys a top for £25. Complete the bar model and write a

calculation to show what she has left.

£25

Bilal has these coins. _
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He spends 54p. How much does he have left?
A scarfis £12 and a bag is £25

Emily buys one of each and pays with a £50 note.
How much change will she receive?

g Amy buys an ice-cream for 90p.

Benji spends £1.35 in the shop
and pays with a £2 coin. How
much change will he receive?

Arun buys an ice lolly from the ice
cream van. It costs 90p. He pays

in 10 pence coins. How many 10

pence coins does he use?

Fill in the missing box:
D +40p = £1-30p
5p + [

70p - 30p

Here is a price list. Jay has £2.20
What can he buy?

Item Price
Chicken £1
sandwich
Ham sandwich £1.50
Turkey sandwich £1.20
Salad 30p
Jacket potato £1
Panini £1.30
Soup £1.60
Sauce 10p
Can of pop 60p
Bun 60p
Chocolate bar 50p
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